= 809 809 811 : 81 809 809 £
’ a T | 1omm THicK FROSTED GLASS
o e
- 2 (PFC-125'65%15 ) — 18
c +1900 D ey T <
B DECKING OMITED 2
5 4 | FOR CLARITY é 10mm THICK M/S PLATE
- e — L — b b ) He = 5
R S
R S S
[ b L3 ‘
o i | |
1 12 3
9 L3S 5 - 5 - a o 3 5 = 5 . 125
| 5\ ey, $ 3 €] @ el 3 (o (c fi_ S
\':':txa\ 5 A DETALL A
B jj (CIERaGE = ¢ o " a o ° g
- 3 o i ol 2 4
1 s 2 5 2 3 g m;
! ! @ 8 2 g [ z 4No. M12 BOLTS
: ' & 7 ¢ 2 & H @54 CENTRES
B % 1 0 & @ 5 «© d
. ' ¢ @ 5 5 v
4711 (B4 UB127°76°13 | 9 M (UB127°76"13) 2
100 | 4 Cimm 1No. 8mm THICK
I : R ) WEB STIFFENER
:u -Lm I T o) ] € 1 [ S ] o) ) Gl | o) 14 “
' IR g -—H|p
= = 3
] 3 ! ?_:‘ 2~ | . 8l
] ” +
I L k2t
S
4Tl (B4 UB127°76°13 ) S|
8 ! {{jjf 8o
= -LIF |6 g E E-E
' “: 9 AR TYPICAL CONNECTION DETAIL
1 - -4
1 5 : g 787 e 785 787 o7 2 - 75 25
w
. . g b 2No, M12 CSK BOLTS
{ \ g (BBPFC-125'65'15 ), /CSK -
4l (B4 UB127°76°13 R
2 — e .
o}
L% I@ g | E
: I i )
: : 5 L ¢ “|:> F CL JD JD — | C|‘_‘ g
: 2 ' T u ] T ] ~_DETA E
1 : (BBPFC12565'15 )
! | NES
il (BaUBT2776"13 ) H%
o n 5 | E-F
:F 8 l; ﬂ : ) 3 ) ] >» - a - a
] ]
| [(BEUBTRT e e 1 25 75 75
- o = . . .
1 8r g e ] o o) o) |
| | =3 - 1 57| 3 3 S| =
7 I P (BEUBT2T°76"13) | | 2 2 2 2 8
Fm = = = = =N e 2 @ 2 3 e . 2
] ' 8 5 2 : 2 )
=] o
L AR : 4 ® 5 g 5 g g 5
b 809 \ l —d . q
| 400
0 |
e cassia o - - = - s
FOR B AN i TARRO 8 9 g D a \ £LTE50
A ‘ 4No. M12 BOLTS
3431 e _l ey ———— ——— .
t B OUTSIDE FLOORBEAMS Goy cIc)
Plan +0
o]
1500 : B L I R R A= SR g Lopne Bog = 400
] 90, 120, |50] A‘L GCN'M ! O g(
) 50 50
0 )y T T T T T T ] [t
2 | I
I 3l
| OBYLNE  GLVAY
[ |
|
LB (SHETOTOS0) 120mm WIDE GLASS IS TOO NARROW
oo : ol - SPRERER SR REENR | GALVANISED AND
100y  }100,100,100,100f f100 B @[] ‘ L
. PPC RAL 7021 J
8l
g & B
b x|
ol
4
3]
. : B2UC152"152°23 IE | PRELIMINARY ISSUE [ 714
T s e g WS | S |7 ol [To @ Revio | REvMARK | REVsoNDESCRIFTION [Revsionoate
i —
.
elitemetalcraft

S 5 = e e

(e]
'
(e}

DRAWING TITLE | A1_GA_DRAWING
EE!.'_-!C152'152'29 D} SHS70°70'5.0 | | ‘ CONTRACT

MODELLED BY SO ISSUE DATE 00.00.0000

| CONTRACT NO 41489 SCALE 1:15 1:20 1:5

(=}
v
[=]

DRAWING No G ] REVISION No 1




DECKING OMITED |
FOR CLARITY |

A

GALVANISED AND|

DECKING OMITED
FOR CLARITY

PPC RAL 7021 i ALL GLAZiNG

Tu RE oBSCLNE GUAS)

|namonuars
]
elitemetalcraft
DRAWING TI E A1_GA_DRAWING
CONTRAC
MODELLE] SO
CCCCCCCCCCCCCC
NNNNNNNN G [2] REVISION No. 1




FB8 PFC-125%65*15

Py
@,
2
@
A
3 3|
\"\94 . 4951 I
B8 PFC-100°50°10 =
)
L
ez
|
O
8
i g
=
O]
0 401 2
E 2 g
u 2
g 1]
5 [
gl [0 8
_ il
pad (SHS70°70°5.0 ) r )
10mm NOMINAL TOLERANCE | m
450 FB1RSA70°70°6
FB4 RSA70°70'6 ~ <
/ SHS70°70°5.0 P
|O (o] (ol e} 3y
(C2UB1277613) ~
| | DETB 8 8 6| ~ <
2 2 D], <
b < CTUB1Z2I76'13 i
~ IA
(BIUBT277643)
a R ° 2 eizr7ea = !
B 8 (BRrEsR))
_ <D ~ <
N ~ (B1UB127°76'13 ) < ]
~ PEaN
S
~ == R{ _ <> <
4390 — i . |
< N
N
o c-c
s e \ DET A 20mm NOMINAL TOLERANCE ' (e c-C
2213
= ¢
. =
- L .
o d (=N ~
- ~ <~ ~
~ R s - 2213
R S L C6UB127°76'13
8 S ) - - - /| =
o — S sy [
S —— =, o by [~
. - < = P~
= gl> R
| = o pieto) = = C5UBT27 7613
c g S ~ T 50 | 60
: R = <= < = FLT8'70° 135 2No. M12 THROUGH BOLTS
| == L o ¥ e /
~== & T ~ <
g B5 UB127°76°13 ! N \ 2 25, 12525, 125 8 (3/ RSATOT!
= SREATOTOE)
l I R == UB12776°13 S = O
. L 8
! et P - b - i
"
| | B4 UB127°76'13 = (FLT870°200)
-
| . . ~ FLT8°80 * 100 © UB127°76"13 2No. M12 RESIN ANCHORS
g ! | I = O G\ 3
w ™
| i RS = 30, 60 30 = O ]
| I N ——ge 4No. M12 BOLTS @ 50 CENTRES ]
i B1UB127'76'13 ! ~ T T TR /
! | | = ]f P4 2No. FLT8*100 * 120 (ST T050)
3 p ﬁ imal rf
5200 PLATE WELDED TO THE U/ §
| | I FLT5°200 OF ALL FLOOR LEVEL BEAMS o 0=Dj
; UB127°76"13
I g B2UB127°76°13 . 5
I 2No. M12 BOLTS 6
; | BIUB127°76°13
I B h ] DETAL A \ g
(UB127°76*13)
! SEUBSTTET | | UB127°76°13
8
T =
SN T = T = T = R P~ SN DETAL B
T 1o, | S e e KA s ST b T
NG S R R~ NS ~ ~ g s R 1| P1___ | PRELIMINARY ISSUE 2214
~ < ~ ~ —— ~ -~ ~ < ~ <% ~ el ~ -~ mel REVMARK | REVISION DESCRITION IRWDATE
= i = g SRR i P R S N
el - L < > - o i . . ~ e b > .
C2UB12776'13 B C3UB12776'13 elltel I Ietalcral t
2160 2160 26:02:05
DRAWING TITLE A1_GA_DRAWING
CONTRACT
MODELLED BY SO ISSUE DATE 00.00.0000
SECTION OF LOWER LEVEL CONTRACT NO | 40852 SCALE 110 120 15
DRAWING No G [} REVISION No. 1




4330
CISHST0705.0
e :
-—
‘ s |
i DETA
24
{
FLTa% | 2160 CroEE), 2160 ’
+] U T
o 2
0
<)
5
w
v i( v v
N
1No. M12 CSK BOLT
G :
ELEVATION ON GAURD RAIL
GLASS THICKNESS TO BE CONFIRMED
807 807 / L (4 sa7
/ DETD
i Fiisi i ] il / iy .
/ s
m - - - - - - - - - -
(el e H9 H He e He @[] 13 e[ Mo @[]
U
{
tl
I
I
I
Il H
U a0] |70] Jeo
I
I}
I
Il
{0
Il
ﬁ III_" Ho e [ e o e[l Heo el H» e M® e[
8
[ [c C
' v ¥
ELEVATION ON GLASS
et o= (FBBPFC-125'65"15 )
E::T_':::I:::I 30 125 125 20

SHS70%70°5.0

12

10mm THICK PLATE

DETAL D

DE|

1

2N M2 RESIN ANCHORS.

PLT15%240 * 310

|n
'
{e]

2Na M{2CSKBOLTS

TR

*—*1*—? T
1 ]

=5z
- 'y
”

CTUBIZTTE 13 )

| 1
Giop)

DETAIL A

81 U827 78T

3d-3d
SECTION OF LOWER LEVEL

N\ V7 JTAN

NV // N\

\

G uBuTTEa

ALc GLaawa 1o g€
OBSCVLE GLASY

S CiUBT 7813 )

1 [Pt

| PRELIMINARY ISSUE

[ 24214

REVNo | REVMARK | REVISONDESCRIPTION

|Revisonoate

28-02-05

elitemetalcraft

DRAWING TITLE

A1_GA_DRAWING

CONTRACT
MODELLED BY SO ISSUE DATE 00.00.0000
CONTRACT NO 40852 SCALE 1:15 1:20 15

DRAWING No

G [2)

REVISION No 1




